
SAP ABAP table RMCS3 {I/O Strucutre for SAPMMCS3}

RMCS3

FCATL [CHAR (4)]

SFEIN [CHAR (2)]

MANDT [CLNT (3)]

MCINF [CHAR (8)]

STABL [CHAR (30)]

MCAPP [CHAR (2)]

MCIVO [CHAR (8)]

SPZIS [CHAR (1)]

PERIV [CHAR (2)]

QFEIN [CHAR (2)]

STAFO [CHAR (6)]

VBELN [CHAR (10)]

VBELN_CAS [CHAR (10)]

VBELN_VA [CHAR (10)]

VBELN_VL [CHAR (10)]

VBELN_VF [CHAR (10)]

MBLNR [CHAR (10)]

MJAHR [NUMC (4)]

BUKRS [CHAR (4)]

BSTNR [CHAR (10)]

UBLNR [CHAR (10)]

UBJAHR [NUMC (4)]

TABNBEW [CHAR (8)]

TABNBST [CHAR (8)]

TKNUM [CHAR (10)]

EKKO

MANDT [CLNT (3)]

EBELN [CHAR (10)]

 RMCS3-BSTNR = EKKO-EBELN 
0..N

0..N

MSEG

MANDT [CLNT (3)]

MBLNR [CHAR (10)]

MJAHR [NUMC (4)]

ZEILE [NUMC (4)]

 RMCS3-MBLNR = MSEG-MBLNR 

0..N

0..N

 RMCS3-MJAHR = MSEG-MJAHR 0..N

0..N

T000

MANDT [CLNT (3)]

 RMCS3-MANDT = T000-MANDT 
0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 RMCS3-BUKRS = T001-BUKRS 
0..N

0..N

T009

MANDT [CLNT (3)]

PERIV [CHAR (2)]

 RMCS3-PERIV = T009-PERIV 
0..N

0..N
T804A

TAB [CHAR (30)]

 RMCS3-STABL = T804A-TAB 

0..N

0..N
TFCG

MANDT [CLNT (3)]

FCATL [CHAR (4)]

 RMCS3-FCATL = TFCG-FCATL 

0..N

0..N

TMC4

MANDT [CLNT (3)]

MCINF [CHAR (8)]

 RMCS3-MCINF = TMC4-MCINF 

0..N
0..N

 RMCS3-MCIVO = TMC4-MCINF 

0..N
0..N

 RMCS3-TABNBEW = TMC4-MCINF 
0..N

0..N
 RMCS3-TABNBST = TMC4-MCINF 0..N

0..N
TMC6

SFEIN [CHAR (2)]
 RMCS3-QFEIN = TMC6-SFEIN 

0..N
0..N  RMCS3-SFEIN = TMC6-SFEIN 0..N0..N

TMCAP

MANDT [CLNT (3)]

MCAPP [CHAR (2)]

 RMCS3-MCAPP = TMCAP-MCAPP 

0..N

0..N

TMCB

MANDT [CLNT (3)]

STAFO [CHAR (6)]

 RMCS3-STAFO = TMCB-STAFO 

0..N

0..N

TMCZ

SPZIS [CHAR (1)]

 RMCS3-SPZIS = TMCZ-SPZIS 

0..N

0..N

UKPF

MANDT [CLNT (3)]

UBLNR [CHAR (10)]

UBJAHR [NUMC (4)]

 RMCS3-UBJAHR = UKPF-UBJAHR 

0..N

0..N

 RMCS3-UBLNR = UKPF-UBLNR 

0..N

0..N

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 RMCS3-VBELN = VBUK-VBELN 

0..N

0..N

 RMCS3-VBELN_CAS = VBUK-VBELN 

0..N

1

 RMCS3-VBELN_VA = VBUK-VBELN 

0..N

0..N

 RMCS3-VBELN_VF = VBUK-VBELN 
0..N

0..N

 RMCS3-VBELN_VL = VBUK-VBELN 0..N

0..N

VTTK

MANDT [CLNT (3)]

TKNUM [CHAR (10)]

 RMCS3-TKNUM = VTTK-TKNUM 

0..N

0..N


